

County of Los Angeles Department of Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

Project Name: Puddingstone and Marshall Canyon Channels Trench Settlement Repair

Project ID: FCC0001267 Bids Opened: 3/21/2017

Office Engineer: Robert Eisenhamer 626-458-3155

		Engineer's Estimate		(1) M K Construction		(2) Sully-Miller Contracting Company		(3) R C Becker & Son, Inc.		(4) SJD&B, Inc.			
(1) Preliminary Bid Amount							\$326,025.00		\$327,217.00		\$332,193.59		\$333,220.00
(2) Un	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MTH)	1	\$500.00		\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF BMPS	1	\$5,000.00	LS	\$5,000.00	\$20,000.00	\$20,000.00	\$2,200.00	\$2,200.00	\$15,057.05	\$15,057.05	\$1,000.00	\$1,000.00
5	ROOT PRUNE TREE (INCL ROOT CONTROL BARRIER)	3	\$1,000.00	EA	\$3,000.00	\$500.00	\$1,500.00	\$900.00	\$2,700.00	\$1,025.87	\$3,077.61	\$850.00	\$2,550.00
6	TREE REMOVAL (25"+ DIAMETER)	2	\$2,000.00	EA	\$4,000.00	\$1,100.00	\$2,200.00	\$2,500.00	\$5,000.00	\$2,730.02	\$5,460.04	\$2,350.00	\$4,700.00
7	CROWN REDUCTION, TREE (25" + DIAMETER)	3	\$600.00	EA	\$1,800.00	\$1,300.00	\$3,900.00	\$225.00	\$675.00	\$517.44	\$1,552.32	\$220.00	\$660.00
8	CONCRETE REMOVAL (NON- REINFORCED)	52	\$150.00	CY	\$7,800.00	\$177.00	\$9,204.00	\$115.00	\$5,980.00	\$161.06	\$8,375.12	\$215.00	\$11,180.00
9	UNCLASSIFIED EXCAVATION	880	\$105.00	CY	\$92,400.00	\$64.00	\$56,320.00	\$78.00	\$68,640.00	\$57.57	\$50,661.60	\$100.00	\$88,000.00
10	CRUSHED MISCELLANEOUS BASE	586	\$105.00	CY	\$61,530.00	\$40.00	\$23,440.00	\$47.00	\$27,542.00	\$84.54	\$49,540.44	\$35.00	\$20,510.00
11	AC PAVEMENT	530	\$153.00	TON	\$81,090.00	\$97.00	\$51,410.00	\$95.00	\$50,350.00	\$118.32	\$62,709.60	\$140.00	\$74,200.00
12	PCC CURB & GUTTER, TYPE A2-8	440	\$61.00	LF	\$26,840.00	\$25.60	\$11,264.00	\$29.00	\$12,760.00	\$26.08	\$11,475.20	\$28.00	\$12,320.00
13	PCC CURB & GUTTER, TYPE A3-8	440	\$41.00	LF	\$18,040.00	\$25.60	\$11,264.00	\$29.00	\$12,760.00	\$23.75	\$10,450.00	\$28.00	\$12,320.00

Project Name: Puddingstone and Marshall Canyon Channels Trench Settlement Repair

Project ID: FCC0001267 Bids Opened: 3/21/2017

Bids Opened: 3/21/2017 Office Engineer: Robert Eisenhamer 626-458-3155

			Engineer's Estimate			(1) M K Construction		(2) Sully-Miller Contracting Company		(3) R C Becker & Son, Inc.		(4) SJD&B, Inc.	
(1) Preliminary Bid Amount					\$326,025.00		\$327,217.00		\$332,193.59		\$333,220.00		
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
14	PCC WALK, 4" THICK	240	\$16.00	SF	\$3,840.00	\$12.00	\$2,880.00	\$13.00	\$3,120.00	\$11.24	\$2,697.60	\$10.00	\$2,400.00
15	DELETED	0	\$0.00	EA	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
16	TRAFFIC CONTROL	1	\$20,000.00	LS	\$20,000.00	\$61,083.00	\$61,083.00	\$77,350.00	\$77,350.00	\$39,870.31	\$39,870.31	\$17,000.00	\$17,000.00
17	TEMPORARY CRASH CUSHION ARRAY	3	\$2,000.00	EA	\$6,000.00	\$1,200.00	\$3,600.00	\$1,500.00	\$4,500.00	\$1,180.72	\$3,542.16	\$1,600.00	\$4,800.00
18	TEMPORARY RAILING (TYPE	1160	\$36.00	LF	\$41,760.00	\$30.00	\$34,800.00	\$6.50	\$7,540.00	\$28.01	\$32,491.60	\$32.00	\$37,120.00
	K)												
19	FLASHING ARROW SIGN	4	\$1,500.00	EA	\$6,000.00	\$600.00	\$2,400.00	\$1,100.00	\$4,400.00	\$933.15	\$3,732.60	\$900.00	\$3,600.00
20	CHANGEABLE MESSAGE SIGN	2	\$2,000.00	EA	\$4,000.00	\$1,200.00	\$2,400.00	\$2,900.00	\$5,800.00	\$1,866.30	\$3,732.60	\$1,820.00	\$3,640.00
21	LOCAL DEPRESSION PER	1	\$500.00	EA	\$500.00	\$2,600.00	\$2,600.00	\$1,400.00	\$1,400.00	\$1,281.34	\$1,281.34	\$1,200.00	\$1,200.00
	STD PLAN 313, CASE E, & DETAIL "A"												
22	LOCAL DEPRESSION PER	1	\$500.00	EA	\$500.00	\$2,600.00	\$2,600.00	\$1,400.00	\$1,400.00	\$1,281.34	\$1,281.34	\$1,200.00	\$1,200.00
	STD PLAN 313, CASE E, & DETAIL "B"												
23	MULTI-AXIAL GEOGRID	3600	\$6.00	SY	\$21,600.00	\$5.35	\$19,260.00	\$7.75	\$27,900.00	\$5.97	\$21,492.00	\$8.80	\$31,680.00
24	FURNISH AND PLANT 15	2	\$2,000.00	EA	\$4,000.00	\$700.00	\$1,400.00	\$1,350.00	\$2,700.00	\$606.53	\$1,213.06	\$320.00	\$640.00
- '	GALLON TREE PER STD	_	4 =,000.00		4 1,000.00	ψ. σσ.σσ	4 1, 100100	ψ 1,000.00	ΨΞ,: σσ.σσ	4000.00	ψ ·, <u>=</u> · σ·σ·σ	4020.00	Ψο.σ.σσ
	PLAN 520-4												
Unit P	rice Total				\$412,200.00		\$326,025.00		\$327,217.00		\$332,193.59		\$333,220.00
(3) Lo	cal Small Business Enterprise (LSBE	E) Preferen	ce Amount				\$0.00		\$0.00		\$0.00		\$0.00
(4) LSBE Adjusted Amount							\$326,025.00		\$327,217.00		\$332,193.59		\$333,220.00
Comm	ents				APPARENT I	LOW BIDDER							



County of Los Angeles Department of Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

Project Name: Puddingstone and Marshall Canyon Channels Trench Settlement Repair

Project ID: FCC0001267 Bids Opened: 3/21/2017

Office Engineer: Robert Eisenhamer 626-458-3155

		Engineer's Estimate		(5) Excel Paving Company		(6) Rio Jordan Construction, Inc.		(7) All American Asphalt		(8) G M SAGER CONSTRUCTION CO INC			
(1) Preliminary Bid Amount							\$362,788.00		\$365,000.00		\$365,868.00		\$368,304.00
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MTH)	1	\$500.00	MTH	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF BMPS	1	\$5,000.00	LS	\$5,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$4,200.00	\$4,200.00	\$3,000.00	\$3,000.00
5	ROOT PRUNE TREE (INCL ROOT CONTROL BARRIER)	3	\$1,000.00	EA	\$3,000.00	\$1,000.00	\$3,000.00	\$1,100.00	\$3,300.00	\$850.00	\$2,550.00	\$1,980.00	\$5,940.00
6	TREE REMOVAL (25"+ DIAMETER)	2	\$2,000.00	EA	\$4,000.00	\$2,700.00	\$5,400.00	\$3,000.00	\$6,000.00	\$2,300.00	\$4,600.00	\$1,650.00	\$3,300.00
7	CROWN REDUCTION, TREE (25" + DIAMETER)	3	\$600.00	EA	\$1,800.00	\$250.00	\$750.00	\$300.00	\$900.00	\$212.00	\$636.00	\$990.00	\$2,970.00
8	CONCRETE REMOVAL (NON- REINFORCED)	52	\$150.00	CY	\$7,800.00	\$60.00	\$3,120.00	\$300.00	\$15,600.00	\$358.00	\$18,616.00	\$225.00	\$11,700.00
9	UNCLASSIFIED EXCAVATION	880	\$105.00	CY	\$92,400.00	\$72.00	\$63,360.00	\$35.00	\$30,800.00	\$81.00	\$71,280.00	\$70.00	\$61,600.00
10	CRUSHED MISCELLANEOUS BASE	586	\$105.00	CY	\$61,530.00	\$83.00	\$48,638.00	\$60.00	\$35,160.00	\$59.00	\$34,574.00	\$75.00	\$43,950.00
11	AC PAVEMENT	530	\$153.00	TON	\$81,090.00	\$126.00	\$66,780.00	\$105.00	\$55,650.00	\$88.00	\$46,640.00	\$110.00	\$58,300.00
12	PCC CURB & GUTTER, TYPE A2-8	440	\$61.00	LF	\$26,840.00	\$46.00	\$20,240.00	\$25.00	\$11,000.00	\$53.00	\$23,320.00	\$43.00	\$18,920.00

Project Name: Puddingstone and Marshall Canyon Channels Trench Settlement Repair

Project ID: FCC0001267 Bids Opened: 3/21/2017

Comments

Bids Opened: 3/21/2017 Office Engineer: Robert Eisenhamer 626-458-3155

Addenda: 4
Duration: 25 Working Day(s)

				Engine	eer's Estimate	(5) Excel Paving Company		(6) Rio Jordan Construction, Inc.		(7) All American Asphalt) G M SAGER TION CO INC
(1) Preliminary Bid Amount						\$362,788.00		\$365,000.00		\$365,868.00	00.101.100	\$368,304.00	
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
13	PCC CURB & GUTTER, TYPE A3-8	440	\$41.00	LF	\$18,040.00	\$43.00	\$18,920.00	\$25.00	\$11,000.00	\$55.00	\$24,200.00	\$43.00	\$18,920.00
14	PCC WALK, 4" THICK	240	\$16.00	SF	\$3,840.00	\$15.00	\$3,600.00	\$6.00	\$1,440.00	\$13.00	\$3,120.00	\$10.00	\$2,400.00
15	DELETED	0	\$0.00	EA	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
16	TRAFFIC CONTROL	1	\$20,000.00	LS	\$20,000.00	\$34,000.00	\$34,000.00	\$56,450.00	\$56,450.00	\$22,200.00	\$22,200.00	\$44,000.00	\$44,000.00
17	TEMPORARY CRASH CUSHION ARRAY	3	\$2,000.00	EA	\$6,000.00	\$5,000.00	\$15,000.00	\$7,000.00	\$21,000.00	\$1,300.00	\$3,900.00	\$1,000.00	\$3,000.00
18	TEMPORARY RAILING (TYPE K)	1160	\$36.00	LF	\$41,760.00	\$24.00	\$27,840.00	\$35.00	\$40,600.00	\$58.00	\$67,280.00	\$31.90	\$37,004.00
19	FLASHING ARROW SIGN	4	\$1,500.00	EA	\$6,000.00	\$730.00	\$2,920.00	\$3,000.00	\$12,000.00	\$1,100.00	\$4,400.00	\$800.00	\$3,200.00
20	CHANGEABLE MESSAGE SIGN	2	\$2,000.00	EA	\$4,000.00	\$1,800.00	\$3,600.00	\$3,000.00	\$6,000.00	\$1,600.00	\$3,200.00	\$1,200.00	\$2,400.00
21	LOCAL DEPRESSION PER STD PLAN 313, CASE E, & DETAIL "A"	1	\$500.00	EA	\$500.00	\$1,800.00	\$1,800.00	\$4,000.00	\$4,000.00	\$2,200.00	\$2,200.00	\$2,800.00	\$2,800.00
22	LOCAL DEPRESSION PER STD PLAN 313, CASE E, & DETAIL "B"	1	\$500.00	EA	\$500.00	\$1,800.00	\$1,800.00	\$4,000.00	\$4,000.00	\$2,200.00	\$2,200.00	\$2,800.00	\$2,800.00
23	MULTI-AXIAL GEOGRID	3600	\$6.00	SY	\$21,600.00	\$8.00	\$28,800.00	\$6.00	\$21,600.00	\$6.56	\$23,616.00	\$10.00	\$36,000.00
24	FURNISH AND PLANT 15 GALLON TREE PER STD PLAN 520-4	2	\$2,000.00	EA	\$4,000.00	\$360.00	\$720.00	\$500.00	\$1,000.00	\$318.00	\$636.00	\$1,800.00	\$3,600.00
Unit P	rice Total				\$412,200.00		\$362,788.00		\$365,000.00		\$365,868.00		\$368,304.00
(3) Lo	cal Small Business Enterprise (LSBE	E) Preference	ce Amount				\$0.00		\$16,301.25		\$0.00		\$0.00
(4) LSBE Adjusted Amount							\$362,788.00		\$348,698.75		\$365,868.00		\$368,304.00

-4-



County of Los Angeles Department of Public Works Construction Division BID SUMMARY (sorted by Unit Price Total)

Project Name: Puddingstone and Marshall Canyon Channels Trench Settlement Repair

Project ID: FCC0001267 Bids Opened: 3/21/2017

Office Engineer: Robert Eisenhamer 626-458-3155

	Engineer's Estimate		(9) PK Construction		(10) Los Angeles Engineering, Inc.		(11) Clarke Contracting Corporation		• •				
(1) Pre	eliminary Bid Amount						\$374,265.00		\$433,770.00		\$434,632.00		\$738,550.00
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	UNIT PRICE OF \$1,000)												
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MTH)	1	\$500.00	MIH	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF BMPS	1	\$5,000.00	LS	\$5,000.00	\$13,000.00	\$13,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$37,000.00	\$37,000.00
5	ROOT PRUNE TREE (INCL ROOT CONTROL BARRIER)	3	\$1,000.00	EA	\$3,000.00	\$1,773.33	\$5,319.99	\$1,800.00	\$5,400.00	\$1,500.00	\$4,500.00	\$250.00	\$750.00
6	TREE REMOVAL (25"+ DIAMETER)	2	\$2,000.00	EA	\$4,000.00	\$1,800.00	\$3,600.00	\$3,300.00	\$6,600.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00
7	CROWN REDUCTION, TREE (25" + DIAMETER)	3	\$600.00	EA	\$1,800.00	\$1,500.00	\$4,500.00	\$300.00	\$900.00	\$750.00	\$2,250.00	\$500.00	\$1,500.00
8	CONCRETE REMOVAL (NON- REINFORCED)	52	\$150.00	CY	\$7,800.00	\$150.00	\$7,800.00	\$140.00	\$7,280.00	\$450.00	\$23,400.00	\$200.00	\$10,400.00
9	UNCLASSIFIED EXCAVATION	880	\$105.00	CY	\$92,400.00	\$119.00	\$104,720.00	\$93.00	\$81,840.00	\$115.00	\$101,200.00	\$30.00	\$26,400.00
10	CRUSHED MISCELLANEOUS BASE	586	\$105.00	CY	\$61,530.00	\$75.00	\$43,950.00	\$110.00	\$64,460.00	\$62.00	\$36,332.00	\$100.00	\$58,600.00
11	AC PAVEMENT	530	\$153.00	TON	\$81,090.00	\$147.50	\$78,175.00	\$139.00	\$73,670.00	\$118.50	\$62,805.00	\$250.00	\$132,500.00
12	PCC CURB & GUTTER, TYPE A2-8	440	\$61.00	LF	\$26,840.00	\$50.00	\$22,000.00	\$40.00	\$17,600.00	\$48.00	\$21,120.00	\$100.00	\$44,000.00

Project Name: Puddingstone and Marshall Canyon Channels Trench Settlement Repair

Project ID: FCC0001267
Bids Opened: 3/21/2017

Bids Opened: 3/21/2017 Office Engineer: Robert Eisenhamer 626-458-3155

				Engine	eer's Estimate	(9) Ph	(9) PK Construction		(10) Los Angeles Engineering, Inc.		(11) Clarke Contracting Corporation		(12) Minco Construction	
(1) Preliminary Bid Amount						\$374,265.00		\$433,770.00		\$434,632.00		\$738,550.00		
(2) Un	it Price Detail													
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	
13	PCC CURB & GUTTER, TYPE A3-8	440	\$41.00	LF	\$18,040.00	\$35.50	\$15,620.00	\$40.00	\$17,600.00	\$42.00	\$18,480.00	\$100.00	\$44,000.00	
14	PCC WALK, 4" THICK	240	\$16.00	SF	\$3,840.00	\$10.00	\$2,400.00	\$23.00	\$5,520.00	\$13.00	\$3,120.00	\$10.00	\$2,400.00	
15	DELETED	0	\$0.00	EA	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	
16	TRAFFIC CONTROL	1	\$20,000.00	LS	\$20,000.00	\$10,000.00	\$10,000.00	\$27,000.00	\$27,000.00	\$71,500.00	\$71,500.00	\$37,000.00	\$37,000.00	
17	TEMPORARY CRASH CUSHION ARRAY	3	\$2,000.00	EA	\$6,000.00	\$900.00	\$2,700.00	\$12,000.00	\$36,000.00	\$5,500.00	\$16,500.00	\$7,000.00	\$21,000.00	
18	TEMPORARY RAILING (TYPE K)	1160	\$36.00	LF	\$41,760.00	\$25.50	\$29,580.00	\$20.00	\$23,200.00	\$20.00	\$23,200.00	\$100.00	\$116,000.00	
19	FLASHING ARROW SIGN	4	\$1,500.00	EA	\$6,000.00	\$600.00	\$2,400.00	\$1,100.00	\$4,400.00	\$600.00	\$2,400.00	\$1,500.00	\$6,000.00	
20	CHANGEABLE MESSAGE SIGN	2	\$2,000.00	EA	\$4,000.00	\$2,800.00	\$5,600.00	\$3,100.00	\$6,200.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	
21	LOCAL DEPRESSION PER STD PLAN 313, CASE E, & DETAIL "A"	1	\$500.00	EA	\$500.00	\$4,200.00	\$4,200.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$49,000.00	\$49,000.00	
22	LOCAL DEPRESSION PER STD PLAN 313, CASE E, & DETAIL "B"	1	\$500.00	EA	\$500.00	\$4,200.00	\$4,200.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$49,000.00	\$49,000.00	
23	MULTI-AXIAL GEOGRID	3600	\$6.00	SY	\$21,600.00	\$2.50	\$9,000.00	\$10.00	\$36,000.00	\$6.20	\$22,320.00	\$25.00	\$90,000.00	
24	FURNISH AND PLANT 15 GALLON TREE PER STD PLAN 520-4	2	\$2,000.00	EA	\$4,000.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$3,000.00	\$6,000.00	\$250.00	\$500.00	
				\$412,200.00		\$374,264.99		\$433,770.00		\$435,627.00		\$738,550.00		
(3) Lo	cal Small Business Enterprise (LSBE) Preferen	ce Amount				\$0.00		\$0.00		\$0.00		\$0.00	
(4) LS	(4) LSBE Adjusted Amount						\$374,264.99		\$433,770.00		\$435,627.00		\$738,550.00	
Comm	Comments													